Bankruptcies in Canada, 1976-1985
	
Year
	Number of Bankruptcies

	1976
	10 049

	1977
	12 772

	1978
	15 938

	1979
	17 876

	1980
	21 025

	1981
	23 036

	1982
	30 643

	1983
	26 822

	1984
	22 022

	1985
	19 752


a) Graph the relation between year and number of brankrputcies. Consider 1976 to be year 1, 1977 to be year 2, and so on. 
b) Describe the graph.

c) If possible, use a graphing calculator, Fathom™, or a spreadsheet. Use quadratic regression to determine the equation of the quadratic curve of best fit. If no technology is available, estimate the coordinates of the maximum and one other point on the curve. Determine an approximate quadratic equation for the curve.
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4.4 The Quadratic Relation y = a(x – h)2 + k

